EARAROBREBRT —5 XN—ZXBISH—F 2024578278 (£) 1014LIE3H

LW s TVE 3BISX US5R3KE BE) UEEl VT BN
[AE%) 1 & :18,400,000 @ 2 3#&:7,400,000 3 3&:4,600,000 9 4 3% :2,800,000 5 & :1,840,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—I,~7 4 4 | FIAER 2:00.6 4-4-4-4 | 34.3|106.5| 7 454 | FOHIE—ER (558)
1 5| 7T 7 I-ILYT 53.0 =) o | B BSTLYRIST5T47
R:T=ILRY YT B:IARKU—R EvIUy RI7—L4
= 4 5 | BEHXT 2:00.6 2-2-2-2 |34.4|106.4| 5 482 | EtER (RR)
218114 A= 54.0 (1) “2) %Jllﬁim—)b?‘»rydx (#)
RUFAVF—R B:X—YTUWIR TIVISTF— L
S IR » t 3 | BE 2:00.9 4-4-4-4 | 34.6(103.0| 1 84 | EFIE— ()
3/5]8|¥aNibyI—=5)L * 54.0 o +10) ) G1L-vvo
R:FF BYRSZT (B) 81— KL—y3avEEI 7
=g J— 4 5 | AP 2:01.0 4-4-6-6 | 34.6(102.1| 10 | 468 |- LRfGHS (55)
417 12|=2—/—xI 54.0 L) @) | ZA-VRL—yvT
R:FXF B:Fa—ILTU—=Y /=Y Tr—1L
= o5 | BB 2:01.0 1-1-1-1 [ 34.9] 99.0 | 12 | 474 |XEEB— @)
51813 IAEZOAT 5.0 U\F) 2 |. B EvyILyRIF—L
R:aAN/VyF— B:LRIV/—)b WFERS
~ 0= s 4 | HELES 2:01.1 8-7-7-7 |34.5|101.0| 2 482 | BEKAFE (RR)
61111 | XARILIURS 57.0 (1/2) *2) ) YS5IL Y RISTS5T4F
RiI=ILRYY T BRARTULIT EvIUy RI7—LA
= o4 | BEEN 2:01.1 14-14-13-10 34.3 [ 101.1| 8 136 | BEERE (ER)
6 4| RIS 55.0 (@) 12 | @) #BL—2K—2
R:ISVFvYr B:5h HBEIT7—LA
S = ey~ s o4 | SIS 2:01.1 11-11-11-10{ 34.4 [ 101.1| 9 506 | REHZELE RR)
sWM 10| N\—IT 207y 55.0 F93) © |, @& FU—rIr—ni
RiZvF—74) B:ITSFTUTZN=I #HEI77—LA
< <= St — : 77~ A
9 7| vavFurFAI H 5 57_3;& 2.(011).3 8-7-7-7 |34.8| 97.8 | 3 (5_3?3) ﬁé—% ER)
R:FA=TAVNT~ B:y—2 /=Y ITr—1L
S _~ 6 | KOEH 2:01.3 11-11-13-14| 34.5 | 98.9 | 14 49 | MIRF (FR)
108 3 | VIF—Tx AR 52.0 FI) 2 |EFEAR—ILF1VIZ @)
RIFVTARNRAN B RA— NG I URURIS
—3 st 5 | HLAE 2:01.3 2-2-2-2 | 35.1| 94.7 | 13 | 484 |EER ()
1184 2 |)v—2 27 53.0 \F) ) | #) WRE-AL-—y¥T
RIN=VISA F:Ly RILY LVAI945T7—1
~ ~ )5 o4 | dRR— 2:01.3 7-7-7-10 | 34.8| 97.8 | 6 516 | RBEZH GER)
12006 | TYARIFVD 55.0 @E) (-6) |IBEHEH
RIET7RAT B:T7HY g BE
q = o4 | SHEBE 2:01.3  [11-11-11-10| 34.6 | 98.9 | 11 | 478 |/APEF (FR)
13| 7[11| 7RI RoRILT 56.0 FI9) (-2 |EBFEHD (%)
RIN—EVIv— B:IvIvIIH-I #xatt ASK STUD
o {ELQARKE :01. e . . SR (ER)
11 o | KOFHR—RUT 44 = 2(10/12)4 8-7-7-7 |34.9] 9.0 | 4 :1_320) el
RRIY—vEe—O— B:E—3V9—Y MER S Y R
[ BN
Eh' 46.5-34.5
NOVIA L | 12.6-11.1-12.4-12.9-12.7-12.4-12.0-11.5-11.4-11.6
@ I1—JF—BEBIEfI
13—7+— 13(2,14) (5,12,8)6(1,7,9) (3,11,10) -4
20—7F— 13(2,14) (5,12,8) (1,6,7,9) 3,11,10) 4
30—7F— (13,2,14) (5,8)12(1,6,7,9) (11,10) (3,4)
43—F— (+13,2,14) (5,8)12(1,7,9) (4,6,11,10)3
o ILRE
B 5 1,670 JA R 5-14 1,620 & 4-8 2,530 3EE 5-8-14 8,650
B B 5 410 5-8 1,150/ /B E 5-14 6,080 3EE 5-14-8 88,690MH
14 250 8-14 760/ o= 5-14 12,250
8 1909

ABIC OV TRUTEREERRODDZE. THRIIZEL.




